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o om g 4% |w wmwew| 4938 | 5AS8H | 6A10H | 7TA3H | 8ATH
1| % #H L | 100 0 0 0 0 0

2 B PHED s | Bitan 3 | BiEn | iEh 3 [ isn$
S RIv AR XE O A W me/L | 0.003 — — 0.0003 A3 — —

4 |k £ K O = ®© b A& | me/L | 0.0005 — — 0.00005 A — —
5l L v & % ok & W me/L | 0.01 — — 0.001 A — —
65 X O = o b A | megL | 0.01 — — 0.001 A — —
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — — 0.00 1A — —
8N i 2 = & b & | me/L | 0.02 — — 0.002 i — —
9 [® 4§ B e = H| mgL | 0.04 — — 0.004 A i — —
W07 b4 ROy 7| mg/L | 0.01 — — 0.00 1A — —
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — — 0.6 — —
1217 v % K 00 % o b & % mgL | 0.8 — — 0.23 — —
13l 7 #F Kk O 0k & % mgL | 1.0 — — 0. 1A i — —
14| i} 1t R F| me/L | 0.002 — — 0.0002 i — —
151,4- ¥ £ % ¥ mgL | 0.05 — — 0.005 A i — —
16|72 T Y] me [ 0.0 — — o004k | — —
171 7 0w v A % v mg/L | 0.02 — — 0.002 A7 — —
18| F 9 7 v v = F L ¥ mgL |0.01 — — 0.001 7 — —
9| V 7 B 8 = F L o mgL |0.01 — — 0.001 Vi — —
20 |-) v + | mg/L | 0.01 — — 0.00 1 AT — —
21 |4 e W me/L | 0.6 — — 0.06 A7 — —
22 |7 = = e | me/L | 0.02 — — 0.002 A — —
23l = = & A Al mgL | 0.06 — — 0.003 — —
24l 27 9w w  EE Bl mg/L | 0.03 — — 0.003 A i — —
251 7 v ® 7/ mom A X v mg/L | 0.1 — — 0.002 — —
26 [ = £ k| me/L | 0.01 — — 0.00 1 A ¥ — —
oThe U v = 2 & | mgL | 0.1 — — 0.007 — —
28 V7 =m v EE  EB| me/L | 0.03 — — 0.003 A i — —
297 v = ¥ 27 v u 2% o me/l |0.03 — — 0.002 — —
07 v = &x mg/L | 0. 09 — — 0.001 ATif — —
31f&x & 7 A F v K| mgL |0.08 — — 0.008 AT — —
208 4 K O F o b & W meL | 1.0 — — 0.05A i — —
BT A= AR BEDOAA Y mgL | 0.2 — — 0.02 A7 — —
M k ™ = o b & W meg/L | 0.3 — — 0.03 ATt — —
Bl Kk ™ o b & | me/L | 1.0 — — 0.05 A — —
367 RV Y A K E DAL A W] meL | 200 — — 7 — —
37|l v H v K OV % @ ft & | me/L | 0.05 — — 0.005 i — —
38l b w4 A | mgL | 200 5 4 4 4 4
9Py on, v 7 xvr % (HE) mg/L 300 — — 42 — —
40 |74 7 b33 ¥ ¥ me/L | 500 — — 94 — —
41k 4 A4 v / om & M Al me/L | 0.2 — — 0.02ii — —
42 1> - 7 2 2 | mg/L | o0.00001 — — 0.000001 A ¥ — —
4312 — AF L A4 VR )L % F — | mg/L | 0.00001 — — 0.000001 A3 — —
4418 4 A v/ om o3& M Al me/L | 0.02 — — 0.002 A i — —
4517 = o, — o | me/L | 0.005 — — 0.0005 A7 — —
46|17 ¥ # ( TOC © & )| mg/lL 3 0.3 0.3 0.4 0.3 0.3
47 o H fit oy 7.4 7.5 7.4 7.3 7.4
48 S O BERL | BERL | BERL | BERL | BEL
49 | = & SO BEeL | BEL | BEALL | BEeL | BERL
50 | Bl OB 5 1A 1A i 1A i 1A i 1A it
51 | O 2 0.1 | 0.1 | 0.1 | 0.1 | 0.1AK7W

% 5 i #| me/L |0tk 0.4 0.3 0.4 0.4 0.4
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o om g 4% |w wmwew| 4938 | 5AS8H | 6A10H | 7TA3H | 8ATH
1| % #H L | 100 0 0 0 0 0

2 B PHED s | Bitan 3 | BiEn | iEh 3 [ isn$
S RIv AR XE O A W me/L | 0.003 — — 0.0003 A3 — —

4 |k £ K O = ®© b A& | me/L | 0.0005 — — 0.00005 A — —
5l L v & % ok & W me/L | 0.01 — — 0.001 A — —
65 X O = o b A | megL | 0.01 — — 0.001 A — —
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — — 0.00 1A — —
8N i 2 = & b & | me/L | 0.02 — — 0.002 i — —
9 [® 4§ B e = H| mgL | 0.04 — — 0.004 A i — —
W07 b4 ROy 7| mg/L | 0.01 — — 0.00 1A — —
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — — 0.6 — —
1217 v % K 00 % o b & % mgL | 0.8 — — 0.23 — —
13l 7 #F Kk O 0k & % mgL | 1.0 — — 0. 1A i — —
14| i} it R F| me/L | 0.002 — — 0.0002 i — —
151,4- ¥ £ % ¥ mgL | 0.05 — — 0.005 A i — —
16|72 T Y] me [ 0.0 — — o004k | — —
171 7 0w v A % v mg/L | 0.02 — — 0.002 A7 — —
18| F 9 7 v v = F L ¥ mgL |0.01 — — 0.001 7 — —
9| V 7 B 8 = F L o mgL |0.01 — — 0.001 Vi — —
20 |-) v + | mg/L | 0.01 — — 0.00 1 AT — —
21 |4 e W me/L | 0.6 — — 0.06 A7 — —
22 |7 = = e | me/L | 0.02 — — 0.002 A — —
27 v 9w & v A mgL |0.06 — — 0.006 — —
24l 27 9w w  EE Bl mg/L | 0.03 — — 0.003 A i — —
251 7 v ® 7/ mom A X v mg/L | 0.1 — — 0.002 — —
26 [ = £ k| me/L | 0.01 — — 0.00 1 A ¥ — —
oThe U v = 2 & | mgL | 0.1 — — 0.011 — —
28 V7 =m v EE  EB| me/L | 0.03 — — 0.003 A i — —
297 v = ¥ 27 v u 2% o me/l |0.03 — — 0.003 — —
07 v = &x mg/L | 0. 09 — — 0.001 ATif — —
31f&x & 7 A F v K| mgL |0.08 — — 0.008 AT — —
208 4 K O F o b & W meL | 1.0 — — 0.05A i — —
BT A= AR BEDOAA Y mgL | 0.2 — — 0.02 A7 — —
M k ™ = o b & W meg/L | 0.3 — — 0.03 ATt — —
Bl Kk ™ o b & | me/L | 1.0 — — 0.05 A — —
367 RV Y A K E DAL A W] meL | 200 — — 6 — —
37|l v H v K OV % @ ft & | me/L | 0.05 — — 0.005 i — —
38l b w4 A | mgL | 200 5 4 4 4 4
9Py on, v 7 xvr % (HE) mg/L 300 — — 42 — —
40 |74 7 b33 ¥ ¥ me/L | 500 — — 100 — —
41k 4 A4 v / om & M Al me/L | 0.2 — — 0.02ii — —
42 IV - 7 2 2 | mg/L | o0.00001 — — 0.000001 A ¥ — —
4312 — AF L A4 VR )L % F — | mg/L | 0.00001 — — 0.000001 A3 — —
4418 4 A v/ om o3& M Al me/L | 0.02 — — 0.002 A i — —
4517 = o, — o | me/L | 0.005 — — 0.0005 A7 — —
46| ¥ ®m ( TOC ®© B )| mg/L 3 0.3 | 0.3 0.4 0.4 0.3 i
47 o H fit oy 7.7 7.7 7.7 7.7 7.4
48 S O BERL | BERL | BERL | BERL | BEL
49 | = & SO BEeL | BEL | BEALL | BEeL | BERL
50 | Bl OB 5 IEST 1A i 1A i 1A i 1A i
51 | O 2 0.1 | 0.1 | 0.1 | 0.1 | 0.1AK7W

% 5 i #| me/L |0tk 0.3 0.3 0.4 0.2 0.4




